Word Problems

Division

. Pam is making rollerblades. Each pair of rollerblades needs 6 wheels. How many pairs of

rollerblades could she make in total if she has 30 wheels?

2. Maggie gets 20 eggs a week from her ' hens. How many eggs does each hen lay in a week?

3. Damien sells hot dogs. He tops each with onion. One onion gives him enough for & hot dogs. How

many onions would he need to be able to top 30 hot dogs”?

4. Clair evenly shares out 32 ice cubes into 8 glasses. How many ice cubes does each glass get?

5. The local café sells pancakes in stacks of 6. The chef only has enough batter to make 12

oancakes. How many stacks of pancakes will the chef be able to make?
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Word Problems Answers

Division

1. Pam is making rollerblades. Each pair of rollerblades needs 6 wheels. How many pairs of

rollerblades could she maoke in total if she has 30 wheels?

5 pairs of rollerblades

2. Maggie gets 20 eggs a week from her " hens. How many eggs does each hen lay in a week?”

5 eggs each

3. Damien sells hot dogs. He tops each with onion. One onion gives him enough for & hot dogs. How

many onions would he need to be able to top 30 hot dogs”?

6 onions

4. Clair evenly shares out 32 ice cubes into 8 glasses. How many ice cubes does each gloss get?

4 ice cubes

5. The local café sells pancakes in stacks of 6. The chef only has enough batter to make 12

oancakes. How many stacks of pancakes will the chef be able to make?

7 stacks of pancakes
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